95.0050.0073_000 Teleskopdom belastbar bis 35Kn

XK 00000000
BB
AOBAAOBABANANAN
BOOOOAAOSAAARA
Lo A %
SOBABEANAOBAAANAN
RN

BN
A7
OSSOSO
AN
OISO
OSSN0

05/ - 00S

0(0)%

I_IIJII

A-A
B 770
D 648

"IJI_I

D 622

<

R o | I O e

N

N

[

1

3

LI

] Belasibor bis 3300 kg |

e il_Il N7

[
00y

[

I

A

T

~

H

.
i
L

jm

O

I
\F—\

[

X D .
o .
o= | S
cry C
=0 0] S
< £
o) ; o}
52| & s |8
mw o > n W °
5l 29 A4 L o
RN R c k)
wv
go| (85 0 (& |8
c [olye} O ©
Oc g2 ™ = o
o of E c £
= O O [« u—
2° .mmf 2] ko 9
< °
9 O g |2
S0 g2 2 o
-— 2 —
00 =€ — W
<0 o5 © O g8
mw em] o
= 1
55| B2 k| O ek
== 5 9 .
2o BR[| == oo
a0l 22 wn 20|
O O
. 55 Z O sO| e
c_|l€o c |9
— == =& 0O —_ >
55138 O [$3R:
[0
eV 8 3 5
s512E| S 0O L9l
To|05| § sO|5
oNB8l 9], Z.~l5
w @.m o O c
<~ |19°l8 O SoN|o
o [0 .| o ko]
Sl2|<c|le K 15 >
€lgls O O 3 =
Ie) ey
g1 vle O 57 |6
cle X = o) k]
Sl RIS 13
9% ol |E_|E
© § oalc e =<8
2 g — e}
S8 Z|2 Q© |5
<|e 0|8 S ke
c c
m c® 5 |2
(0] [e} Chom =
ko] O 293 |2
Q s «03~ |8
Lo T 8259 |
o — co =2 5]
o O — 2 £59z |
c - S wwom
5 2 O B-%e |2
2 o v 2962 |2
9] = > 0Zxo | E
e Q0 wnwZ c IS
< v 3 £
o |2 g
= |0 =) _w
g lax| g 2
5|08 © £
C [0) (o]
> |15c|loxe
o s |r.nw C
283122 S
‘D M.W..n_lu.ﬂ c
& <05 2
£¢ i 3
C [E=£ % c
O |0% » <
o) 52 <
2L : e
o 5> <
Py o]
WDI hV4

UNGE 19 10qysnjag WopdoXss|a] 000 ££00°0500°G6\UNSE Sid Jogisoleq Eoo/m.ov_mo_mh €£00°0500'56\AUY22pasSOM\NOULONIAIT MS\AIUYDS1-/0\$OB0IGDN LOJl)-S-IAN\\

juswiyaulua Nz zjosualog Wap
puIs usjiey|azui3 aigowag JYIN



frey
Nautilus Logo Bunt


	Blatt1
	Zeichenansicht1
	Schnittansicht A-A
	Zeichenansicht3


